2025 4

1 S A A ]

2H10H

—
—
—

U o

. Do not open the test booklet until told to do so.
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. Answers must be filled in on the separate answer sheet. (Answers

must be filled in completely. If the mark is unclear, or more than
one answer is filled in, the answer will be invalid.)
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. Write your full name and examinee number on the test booklet

cover and the answer sheet.
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. Answer sheets and test booklets will be collected after the exam

has finished.
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A Listen to the dialogue and choose the best answer from a) - d). The audio will be played

twice. You may take notes.
RICHE SN B IEEZHCT, ERICHT2RDBEULEEZEA) ~d) OFH»SH 1 2EF LRIV,
ﬁ%ﬁbi 2 Eiﬂiﬁhij—o ){ :E%HZ")T%)*ﬁbli'@:/\/o

[Bl1 Why does Mark think Ms. Connelly’s tests are so hard?
a) He can’t remember the dates and maps.
b) He doesn’t like history.
Cc) Ms. Connelly gives too many tests.

d) He isn't studying because he is going to the beach.

[[12 What subject does Ms. Connelly teach?
a) English
b) Maths
c) Social studies

d) Home economics

13 Who is going to the beach near the school?
a) Luka and Mark
b) Mark and Adam
C) Mark, Junichi, and Natalia
d) nobody is

64 What will Luka do on Saturday night?
a) study for Ms. Connelly’s quiz
b) watch a movie with Mark
c) watch a movie with Adam

d) go to the beach with Junichi and Natalia

5 Why will Luka study hard?
a) His mother told him that if he doesn’t pass, he has to talk to Ms. Connelly.
b) His mother told him that if he doesn’t pass, he has to keep studying.
Cc) His mother told him that if he doesn’t pass, he can go to the beach.

d) His mother told him that if he doesn’t pass, he can’t go see a movie.



B Listen to the following broadcast and choose the most appropriate answer from a) - d) for
each of the questions. The English broadcast will be played twice. You may take notes.
ROBZEZHE, ZONEFEICHTLEM, B1~5ICH L TRdDBEULEZEZTNhZENh a) ~d)
DPRP 5 12EF, ZTORTZEI LRIV, ELF2RHEAE T, AEZWoTHHVIEA,

* Vaccine -7 7 5~ * Virus -7 4 VA

1 What did farm workers catch bird flu from?
a) birds
b) other farm workers
C) cows

d) people who work in cities

B2 What kind of workers are catching bird flu?
a) workers who work in cities
b) farm workers on cow farms
c) farm workers who grow vegetables

d) workers who take the vaccine

B3 What is the CDC doing to stop the spread of bird flu?
a) They are giving a vaccine to farm workers.
b) They are giving medicine to farm workers.
c) They are giving medicine to cows.

d) They are developing a new vaccine®.

B4 Why does the CDC already have a vaccine for this new disease?
a) They expected an outbreak soon.
b) They are prepared from their experience with Corona Virus*.
c) Bird flu has spread before.

d) Bird flu is easy to make a vaccine for.

615 Will the vaccine stop people from catching bird flu?
a) Yes, it will control the spread of the disease.
b) Yes, and it will also be given to the cows.
c) No, but it can help the sick cows.

d) No, but it can help the sick farm workers.
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A Read the paragraph below. For numbers ( 1) to ( 10 ), choose the best answer from a) - d)

to complete the sentences.
WXL G, HEITH BN L2 TXHD (1)~ (10)DZEHICH TIE F 2 d BV Z2iE (1))
ZZNEN1DEY, ZOidre~v—27L%u3V,

The Marshville Mud Man

Richard Coal was a ( 1 ) man who came from the small town of Marshville. Richard
was always curious about everything and liked to ( 2 ) things. It was ( 3 ) this curiosity and
creativity that he created the rubber rain boot.

As a child, Richard lived in England. There is a lot of rain in England, so he saw a lot of
rainy seasons. He knew how difficult it was to do anything in the rain. He began to do ( 4 )
with different materials in his workshop. Richard soon ( 5 ) with the idea to use rubber to
make boots. It worked very well, and it made him very rich.

With his invention, Richard completely changed rain clothes. His boots quickly gained
( 6 ) for keeping people’s feet dry and comfortable. People from around the world wanted to buy
Richard's boots. His invention was so ( 7 ) that even today, people still use rubber boots when it rains.

( 8 ) some negative feedback about his rubber boots, Richard's creation became an important
invention for the world. Demand for Richard’s boots ( 9 ), so Richard opened more and more
factories in Marshville. Marshville eventually became a huge city with many companies. Those
companies ( 10 ) many of the town’s residents. Today, Richard Coal is remembered as the
“Marshville Mud Man” because of this.

B 1 Choose the best word for number ( 1).
a) famously
b) differ
c) failure

d) smart

12 Choose the best word for number ( 2).
a) example
b) ignore
c) build
d) happen

B3 Choose the best word for number ( 3).
a) due to
b) why
c) already
d) how to



B4 Choose the best word for number ( 4).
a) experience
b) experiments
c) education

d) events

615 Choose the best word for number ( 5).
a) picked up
b) came up
c) filled up
d) gave up

16 Choose the best word for number ( 6 ).
a) humour
b) difficulty
c) familiarity
d) popularity

617 Choose the best word for number ( 7).
a) ridiculous
b) intelligence
c) usual

d) successful

B8 Choose the best word for number ( 8).
a) Although
b) Despite
c) Evenif
d) Instead

B9 Choose the best word for number (9 ).
a) upgraded
b) increased
C) grew up
d) larger

fsl 10 Choose the best word for number ( 10 ).
a) employed
b) worked
c) job
d) effort
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B Look at the graph and read the paragraph below. For questions 1- 5, choose the best answer

from a) - d).
T3 7R T, TxLZeimnHr HETHIB 1 ~50EMIHTIRDBYLEZEENE
N1, ZORTe~v—7LE3W,

Chocolate is a popular treat enjoyed by people around the world. It comes from cocoa
beans and has many types, for example, milk chocolate and dark chocolate. People have loved
chocolate for a long time. Recent research in the New England Journal of Medicine suggests
that eating chocolate might be good for our brains. It has been found that countries with
high chocolate consumption, like Switzerland, often have many Nobel Prize winners, who are

recognized for their intelligence.
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Source: New England Journal of Medicine. Chocolate Consumption, Cognitive Function, and Nobel
Laureates. Franz H. Messerli, M.D.

For example, Switzerland consumes a lot of chocolate and has many Nobel prize winners.
Other countries, such as the United Kingdom, Germany, and Norway, also enjoy chocolate and
have many smart people. However, countries like Sweden, the United States, and France eat a
lot of chocolate but do not have as many Nobel Prize winners. This raises interesting questions
about whether chocolate makes people smarter.

The connection between chocolate and intelligence is complicated. Switzerland shows that
eating chocolate might help improve brain function, but the situations in Sweden, the United
States, and France suggest that other factors may also play a role. It is possible that these
countries do not react to chocolate in the same way. Additionally, intelligence may depend on
more than just diet. There is still much to learn about how chocolate affects the brain, and it is

a fascinating topic for further study.



B 1 A recent study has found that chocolate is...
a) atype of bean b) good for our brains C) very tasty d) popular

612 What are three countries that eat a lot of chocolate and have many smart people?

a) Japan, Italy, France b) Luxembourg, Belgium, Canada

c) Sweden, USA, France d) Germany, UK, Norway

B3 Which country has the most Nobel Prize Winners?
a) Norway b) Sweden c) Switzerland d) UK

B4 Which countries eat a lot of chocolate, but do not have as many smart people?

a) Sweden, USA, France b) UK, Germany, Norway

c) Denmark, Netherlands, Finland d) Japan, Italy, France

615 Why is the relationship between chocolate and brains complicated?
a) Some countries eat a lot of chocolate and have a lot of smart people.
b) Some countries eat a lot of chocolate, but they don’t have many smart people.
C) A recent study has found that chocolate is good for our brains.

d) What you eat is not the only factor on intelligence.
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Choose the correct answer from a) - d) to complete each sentence or question.
BAXDOTHIBICHTIZFESEE (W) LLTHRDEWLZLD (B3, 8idmdbEULHAADYE)
rEhEha)~d) 51208, ZoidsEz~v—27 L3V,

f611 This action movie that comedy movie.
a) is more interesting as
b) is interestinger
c) is the most interesting than

d) is more interesting than

B2 The artist music you played is having a concert tomorrow.
a) that
b) whose
c) which
d) what

13 She that she tired.
a) says / were
b) say /is
C) said / not
d) said / was

B4 My dog wants to the park every day.
a) goes
b) to go
C) going
d) went

B15 The present her very happy.
a) made
b) is made
c) making

d) will makes

—



16 When I don’t eat breakfast, I am member of my family.
a) hungry
b) hungrier
c) the hungriest
d) the more hungry

f[E7 The car, is parked outside, belongs to my neighbor.
a) who
b) which
c) what
d) whose

8 His mother me if I his textbook.
a) asked / had
b) asks / has
C) ask / have
d) asking / having

9 Do you want something with?
a) writing
b) to wrote
C) to write

d) written

il 10 They live in the south of California. It SoCal.
a) is calling
b) calls
c) is call
d) is called
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For questions 1-5, choose the best combination of (7) and (£ ) from a) - d) to complete

each sentence.

KOM1~508x0 [ |CHERNEHoTXERREEZITE, ThER (7) & (1)
ELDLIIHAGDEZ L L. MlAFbEE LTRDEYELDE, ThERTFD a)~ h)
DD 1 DY, ZDiLTe~v—27 L3V,

11 A : What devices are popular now?

B :|

(7) Earphones that

(£) New devices

(77) made in Japan

(4) are wireless

(7) are common these days

(£ ) are expensive

a) (7) = (7) = (7)
d) (7) = (4) = (£)
g) ) - (4) = (7)

B2 My teacher asked me to help her in the classroom, but |

b) (7) = (7)) = (1)
e) ) - (7)) = (7)
h) (4) = (4) = (1)

c) (7) = (4) = (7)
f) 1) - (7) = (£)

(7) all of us

(£4) Ididn’t know

(7) go home
(£) what to do

(7) next weekend

(4) when I got there

a) (7) - (7) = (7)
d) (7) = (1) = (1)
g) 1) = (1) = (7)

B3 If I could speak to my past self, |

b) (7) - (7) = (1)
e) ) — (7)) = (7)
h) (1) = (/) = (1)

c) (7) = () = (7)
f) 4) = (7)) = (1)

(7) I would say

(£4) Icouldn’t

(7) thank you

(4) never

(7) for me

(£) give up

a) (7) - (7) = (7)
d) (7)) - (4) = (1)
g) ) - (4) = (7)

b) (7) - (7)) = (1)
e) 4) - (7) = (7)
h) (4) = (4) = (1)

c) (7)) = (4) = (7)
f) (4) - (7) = (£)




B4 A : Could you tell me how to get to Shinagawa Station?

B :|

(7) Yes, I can’t

(£) Sorry,

(7) I'm not

(£4) show you

(7) from here

(4) around town

a) (7) - (7) = (7)
d) (7) = (1) = (1)
g) 1) = (1) = (7)

B 5 You're just wasting your time. You've |

b) (7) - (7) = (1)
e) ) - (7) = (7)
h) (1) = (/) = (1)

c) (7))~ ) = (7)
f) 4) - (7)) = (1)

(7) been playing

(£) please stop

(7) that video game

(£4) studying for

(7) the exam

(4 ) since two o’clock

a) (7) - (7)) = (7)
d) (7) = (4) = (£)
g) ) - (4) = (7)

b) (7) - (7)) = (1)
e) ) - (7)) = (7)
h) (4) = (4) = (1)

_10_

c) (7) = (4) = (7)
f) (4) - (7) = (£)
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B Choose the best answer from a) - d) to complete each conversation.
DR Y) VDO LI, BICANS DL L TIRDEYELDDZ a) ~d) OHHRS 1 DED,
TR~ —27 L3\,

11 - School bell rings-
Mr. Sato : I will take the attendance now.
Roy : I'm sorry I'm late.
Mr. Sato : Why are you late?
Roy

a) I woke up early.

b) I took the bus.

Cc) My train was delayed.

d) I walk to school every day.

B2 Mao : Hi Aketo, I heard you lived in Tochigi for 5 years.
Aketo : Yes, my family moved there because of my father’s job.
Mao : What do you like about Tochigi?
Aketo :

Mao : Strawberries are my favourite!

a) It’s in the countryside.
b) We drove a lot there.

c) The fruit is really fresh!
d) You can buy gyoza there.

_11_



3 Naoshi : Mr. Smith, can I ask you a question?
Mr. Smith : Sure!
Naoshi : What do you miss the most about your hometown?
Mr. Smith :

a) I moved here last year.

b) So many things, but maybe my family and friends.
Cc) My hometown is far away from here.

d) You should visit my hometown.

B4 Mina : What do you like about our school?
Thomas : I like that our lessons are interesting and informative.

Mina : Me too.

a) Our teachers are kind and motivating.
b) Idon't like to study.
c) I don’t like our lessons. They are boring.

d) Our teachers are okay.

[B15 Kaito : What are your summer holiday plans?
Rintaro : I will attend the study abroad program in Canada.

Kaito : That sounds fun.

Rintaro : Okay, I'll buy one for you.
a) Can I join too?
b) I'll buy a new bicycle.
c) Bring me maple syrup.

d) I have club practice.

< End of Test

_12_
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